1. HEE%E %
(1) R EEFEOKR
@ GERF¥ /IR

BEAENE HEE
INBEIREET 4 A7 VA 46 782, 760 M
MEE Y -y 2—2 B AR 2,185, 480 [
N3 b U —BER
(A LASH 4 23, =7 2 QR A 2 b R— b 1 5) 2,928,200 [
B 7 =T VT SRR 2,013, 000 [
@ BEFxy IR

FEAENE FEE
Hhe BRI E T 55 3 W (3 » AEEHE[ O 3 AEH) 11, 388, 890 M

(2) mEREROF AR

AN 6 R H BIETRE RE A

(EHEX v <X] EES8A H (I Ve6iE, VAL 1HE) C 2PN
47 |5A |6A | 7H |8 | 9H |10A |11 A|12A 1A |24 | 3H | &
10 10 8 16 49 10 5 1 2 3 17 1 132
(BBl ¥ > S2] AR 24 H (7N 2EER) (BT N)
48 |5A |6A | 7HA | 8H |9H |10A|11A|12A| 1A |24 |3H | &
1 1 0 2 10 10 4 5 3 2 9 4 51

(5F 743 A 31 HEE)

o
ol
il
mi
)4
S
==
i

)

x| ZF
I

154 F IR
GIRHREES AR (4 =) MNE 1%, 2&E 3=
LR IRHEEEES B (4 =) NE2=E, BxxE2E
G EE S CH (3=) NE1T=E, BEXR2ER

CNEAE - EEETE (ANER 36%)

il
=

X A



